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23.

I. Each of the diagonals of a rectangular flower

garden is 65m. If one side of the garden
measures 25m, what is the measurement of
the other side?

90m

60m

40m

20m

JowR

A meeting was attended by 150 people. Out
of these, 0.14 were men, 0.2 were women
and the rest were children. How many more
children than women were there? '

A. 69

B. 78

L. 99

D. 129 -

The triangle PQR shown below has been
drawn accurately.

Working Space

24.

What 1s the size of angle QPR?
95°
85°
50°
45°

SOowp

Mwaruwa is paid sh3 750 after working for 25
days. How much money would he be paid if he
does not work for 4 days?

sh 600

sh 4464

sh 4350

sh 3150
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